Example: Let d= 3, s = 7, control points P, . .., Pr, and knot sequence t = {0, 1, 11} Then
the basic interval is [tg,tn—d] = [3,8]. Let’s compute the midpoint of this 1nterva1 t = 5 5=

Fort =5.5 = %, we have J = 5.
Stages: p=10,1,2,3
For each stage we have i = J - d+p,...,J, so we get:
p=0:1=2,3,4,5
p=1:1i=23,4,5
p=21=4,5
p=31i=35
Stagep=0: P = P, I =P, P} =P, P} = F.
Stage p = 1: Computing the various parts of the recursive formula, we have:
= t.i:i,é+d—(p—1) =4+ 3, tiva(po1) — i =1 +3 —i= 3,80
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P§1=§P;1+§P[], and PN = 6P”+6Pi].

Stage p = 2: Computing the various parts of the recursive formula, we have:
t:ll t-:z', itd—(p—-1)=i+2, tiygp-y—ti=1t+2—1=250
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PP =2 P[” +z—2—2pjﬂl, which gives:  P{) = S| +

3
and P[2] Pm + ZP‘P]'
Stage p = 3: Computlng the various parts of the recursive formula, we have:

t=U ti=qitd-{(p—1)=i+Ltigpn—ti=itl—i=150
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